4 3 fa
THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION LoC DIsT REVISIONS
@ COPYRIGHT - BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. H _ 7% TR TN SiTE ST
/ Bl Added New TE logo in Adhesive Tape 05JAN2010 | C . J | PKS
/
4| /
PARTNUMBER: 1551683-1 AS SHOWN
D
|0 REF. CONDUCTOR END K\
DETAIL D - ! '
]
56 PITCH / J
SEE DETAIL B - DATUM LINE
END OF EXTRUSION
DETAIL A
SCALE 21
— (R T Q@ T8 ® @ 8 1 8 a [ B o N NI B Te o [STa [ @ ] [ @ TS T =T33 T8 T8 T3 T8 T3 T8 18 8 |
I I I I I I
Dimension B
SEE DETAIL A
PITCH AS PER TABLE
C .
L Dimension A 10/-2 - 99
- L-TOTAL REF. -
O [(o]] [(o]] [(o]] [(o]] (©) Im
NOTES:
A A BASE AND TOP COVERS (ITEM 5 AND 6) SUPPLIED UNASSEMBLED.
A NUTS CITEM 7) AND WASHERS (ITEM 8) SUPPLIED BAGGED IN STATED QUANTITY.
3 MATERIAL OF THREADED ENDS ON EXTRUSION: COPPER ALLOY.
A
B L
- 5516831 1920 1800 1820 35 350 6
- [551683-5 620 500 520 35 225 3
) [551683-7 1120 000 1020 30 320 4
ol [551683-9 1620 1500 1520 40 360 5
LATCH SIDE Y |- 1551683~ | 2120 2000 2020 35 325 | 7
[-1551683-3 2370 2250 2270 40 365 7
[-1551683-5 900 7180 800 47 304 .8 2
[ -1551683-7 1800 1680 [ 700 47 304 .8 o
55,5 REF.
— = PARTNUMBER L-TOTAL REF . |EFFECTIVE LENGTH (m) | Dimension A | Dimension B | PITCH | oTY
A =
|0 ELASTOMERIC CORD (2x) ELASTOMER WHITE
B 8340-F SERIES BREAKER, 9 SLIDE-BOLT M5 STAINLESS STEEL
o \ 1857 141-1 CONNECTOR AND 8 |WASHER M5 STAINLESS STEEL
- ) 18205391 LEAD ARE DRAWN 7 NUT M5 STAINLESS STEEL
- = FOR REFERENCE ONLY. -
o o THESE PARTS ARE NOT INCLUDED 6 |BASE-COVER BT cDreE BLACK
< IN ASSEMBLY 1857561-1. 5 TOP-COVER PBT 20% GF BLACK
Y < Y 4 CONDUCTOR LONG COPPER ALLOY NICKEL PLATED
[ ) 3 CONDUCTOR SHORT COPPER ALLOY NICKEL PLATED
= ? SELF ADHESIVE TAPE TAPE TRANSPARENT /BLACK LETTERS
o= \ EXTRUSION THERMOPLASTIC UL94V-0 WHITE
o ITEM NO. DESCRIPTION MATER AL FINISH/COLOR
Y 5 L L R R e [ oTmay T0] e
A A Che -2l may [0 Tyco Electronics “s-Hertogenbosch, The Netherlands
A DIMENS [ONS TOLERANCES UNLESS M.Grazioll
OTHERWISE SPECIFIED: APVD 2| may [0 [namE
L mm L. De PBoer BUSBAR ASSEMBLY LEFT
o | L 25,0 REF 0 PLC 47 PRODUCT SPEC B
o= I PLC +-
- @EZ PLC 4- ‘087‘9299 _
- 3 PLC T APPLICATION SPEC
SCALE [ 7 4 PLC +- SIZE | CAGE CODE |DRAWING NO RESTRICTED TO
ANGLES +- -
MATER I AL FINISH WE IGHT — _
APPLICATION DETAIL i ] AZ 00779@ 1901683
“[CUSTOMER DRAWING SCALESV | SHEET OFZ RE\/B‘

AMP 1471-9 REV 31IMAR2000

Pro/ENGINEER DRAWING




4 3
THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION Loc DisT REVISIONS
(:) COPYRIGHT - BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. H _ 7% TR TN SiTE ST
- SEE SHEET | - -
See pETAIL C
0 0 0 0 0 0
n 1@ 18 T3 1 8 N [ B TR TR TH IRNRINITN T Il [SMMe Ta [ Tew I NT=2T88T38T8 S 1 8 1 & 8 1 & 18 [ 8 I g
20
56 PITCH | -
-
Vo]
LJ |
SEE DETAIL D/
I I I I I \ e oo o
[N
Dimension B - =~
PITCH AS PER TABLE
- Dimension A t0/-2 - 99 -
- L-TOTAL REF. -
: O] O] O] ©] ©] o W
[551683-2 1920 1800 1820 35 350 6
|0 REF. CONDUCTOR END 1551683-6 620 500 520 35 225 3
[551683-8 1120 1000 1020 30 320 4
[-1551683-0 1620 500 1520 40 360 5
[ -1551683-2 2120 2000 2020 35 325 7
[-1551683-4 2370 2250 227170 40 365 7
4‘4\ NOTES - [ -1551683-6 900 7180 800 47 304.8] 2
’ [-1551683-8 1800 1680 [ 700 47 304.8] 6
\/ SEE SHEET | FOR NOTES. PARTNUMBER L-TOTAL REF . |EFFecTivE LENGTH (om) | Dimension A | Dimension B | pitch | oty
[0 ELASTOMERIC CORD (2x) ELASTOMER WHITE
DETAIL D 9 |SLIDE-BOLT M5 STAINLESS STEEL
SCALE 7| 8 |WASHER M5 STAINLESS STEEL
7 NUT M5 STAINLESS STEEL
6 BASE-COVER PBT 20%GF BLACK
5 TOP-COVER PBT 20% GF BLACK
4 CONDUCTOR LONG COPPER ALLOY NICKEL PLATED
3 CONDUCTOR SHORT COPPER ALLOY NICKEL PLATED
2 SELF ADHESIVE TAPE TAPE TRANSPARENT /BLACK LETTERS
DATUM LINE | [EXTRUSION THERMOPLASTIC UL94V-0 |WHITE
END OF EXTRUSION ITEM NO. DESCRIPTION MATERI AL FINISH/COLOR
117187 SUsJEcy 10 CHANGE o THECONTAOLT e ENGINECH The ORGANI 24T o Dw>8<heqqi%‘ may 10 = ) Tyco Electronics Neder land BY
Che -2l may [0 Tyco Electronics “s-Hertogenbosch, The Netherlands
0 D IMENS IONS - TOLERANCES UNLESS M. Graziol]
OTHERWISE SPECIFIED: APVD 2| may [0 [namE
mm T.De fBoer BUSBAR ASSEMBLY RIGHT
0 PLC 47 PRODUCT SPEC B
oo o 108-19299 .
DETAIL <: E::: 3 PLC 4 APPLICATION SPEC
SCALE 2] iNgtES +- N ) SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
MATER AL FINISH WEIGHT ) /X 22 00779 (KE;EZ 1551683 ,
LATCH SIDE SCALE 3.4 - - SCALE SHEET

CUSTOMER DRAWING

5 .

OFZ REVB ‘

AMP 1471-9 REV 31IMAR2000




